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" ine standard form of a quadratic equation is: ax? +
the equations’ graph.
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5.2: Finding Critical Points from Standard Form

bx + ¢ and you can determine many key features of
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The y — INTERCEPT is the point (0, €-)

|

ifa &!

The parabola will stretch vertically (more narrow) if a > 1 and will compress vertically (more wide)
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C "ample 1+ Given each Quadratic Equation State the vertex, the axis of symmetry, and y-intercept of

“each graph. Does thegraph open up or down? [s the
a) y=—-2x*+4x—8
a=-12 b=H e2-%

= =10y AR
= -2+4-8=-0

Y

by y=x?>+3x—9
) a=\ b=32 ¢=-9
5 a0
w7
* 1. .
( y= (—3-_) +3(-%) -9
'_'."“02-5

vertex a minimum or a maximum?
Vertex: (!&’ -b)

Axis of Symmetry: ® = |

y —intercept: (0, - g)

Direction of Opening: Dewa N {l
MinMax? Mo (Max valoe i5 A
Strétch or Compress? j*rg\-oh

-~ Vertex: (- [.5,—!(.7.55

Axis of Symmetry: X= =3, or X=-1e5
y —intercept: (O‘_q o

Direction of Opening: ) ? U

minMax? Mia (mia valwe i5 -IhZ-S\

Stretch or Compress? MQ-H‘\L“



C) y=—x2+8x+9
A=l  b=% =9

* y=- (Y +8(1) +9
n =hl TR Y
2 15

*‘Plusin-\o calew lator or work by hond

e) y=3x2—12x+ 12
=3  $=~12. c=\1L
_ M
A= 2N~ Z-
pscz,)‘— 12{) + 1L

- |2 -4+
= 0

ly=—-x*+4x—4

Vertex: (Hl ZS)

Axis of Symmetry: x=4H

y —intercept: (OI Q)

Direction of Opening: Do A A

minMax? Mayx  (Max valot is 25)

Stretch or Compress? }SQ,,“\QS'

Vertex: ( 7,1 O)

Axis of Symmetry: X = 2~

y —intercept: (OI l?,_)

Direction of Opening: U?

MinMax? Min (Ml'fl value 15 O)
Stretch or Compress? S+rest e

Vertex:

Axis of Symmetry:

y —intercept:

Direction of Opening:
“Min/Max?

Stretch or Compress?



